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STATE LEVEL NATIONAL TALENT SEARCH EXAMINATION, 2020
MENTAL APTITUDE TEST
For Class X

Time : Mental Aptitude Test : For General - 120 Minutes, For Disabled (Only Blind) - 150 Minutes Full Marks : 100

8.
9.

Instructions to Candidates
Read the following instructions carefully before you Answer the Questions.
Answers are to be given on a seperate OMR Answer-Sheet.

Please write your State Code, Year, District Code, Centre Code and Roll No. very clearly {only one digit in one
Block) as given on your Admission Card, Please see that no Block is left unfilled and even zeras appearing in the
State Code, Year, District Code, Centre Code and Roll No. are correctly transferred to the appropriate Block on
the booklet and on the Answer-Sheet. For example, a student of Class X appearing from 'P' Centre, State Code
'20', Year '20', District Code '99", Centre Code 199" with Roll No, '999", will make entries in the Block as well as
darken the related circle by a Blue or Black Point Pen as under -

e | Year District | Cemle | Roll No
270] | [(210] | [OT9] | [919]|(21219
o0 00|00 |00 |0OQ
o0 00 |20 |00 | @@
60 |00 |00 |00 |00
A0 00 |00 |0 |00
O |G | 66 a0 | 0@
06 | 00 | 00|06 | @06
00 00|00 | 00 |00@
00 0@ |00 |00 |@0G
6 00 | 00| 00 000
0 06|00 |06 @ OO

For all subsequeni purposes your State Code, Year, District Code, Centre Code and Roll No. shall remain the same
as given on the Admission Card.

This Question Paper consists of 100 Questions.

All questions carry | mark each.

Since all questions are compulsory, do not try 1o read through the whole Question paper before beginning to answer it.
Blank space has been provided for rough-work at the end of each subject.

Remember you have to darken the circle of Answer-Sheet by a Blue or Black Ball Point Pen only; do not use a
pencil.

Answer [0 cach Question is to be indicated by darkening the circle by Blue or Black Ball Point Pen, the correct
alternative in the Answer-Sheet from amongst the ones given for the corresponding Question in the question-
booklet.

Mow tarn to the next page and starl answering the gquestions,

English version of the question paper will be considered as final in case of any dispute arising out of the variation in translation.

N.B.: Do no write on Question-Booklet anything except the State Code, Year, District Code, Centre Code and

Roll No. However, Rough Work can be done anywhere only in the space provided for it in the Booklet.
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Time : For General - 120 Minutes

HHAS JET e

790 : 99 & Fo-120 e

For Disabled (Only Blind) - 150 Minutes CEEal {iﬁﬁ TN 150 e
Full Marks : 100 'fﬂih' : 100
[MAT-1]
Questions 1-10 : I+ 1-10 :
1.  What will be the missing alphabet '?" inthe 1, 2 BRI 7 Ry & 7" § wF @ @0 Fofm

figure given below !

[~ ]

EIHIM

B|F|L

112 [
(1) L () N
{(3) A (4) V

Which word cannot be formed from the
letters of the word FRAGILE ?

(1) LIFE (2) RAIL
(3) EAGLE (4) RACE

A, B, C and D are four relatives. A is
thrice as old as B. Age ol C is half the
age of D and age of B is more than C.
Which of the following statement can be
assumed true ?

(1Y B is alder than D

(2) A is older than D

(3) May be A is younger than D
(4) None of these

How many squares are therc in the

following figure ?

-

Fa

(1) 16
(3) 14 {4} 15

(2} 18

g

& FE AT FEC S 7

E|IH|M

B:|F | L

! 0 1 1.
(1) L (2) N
(3 A 4) V

B4 7 9= FRAGILE % ol & &9 o 9=
Jel S A T R 7

(1) LIFE (2) RAIL

(3) EAGLE (4) RACE
A B CaTDaR Reer 8 | A W B A
d= Th &1 CH 3w D adi 8 K B A

W CH s & Frafafae & 9 9 @
T HE AW o 9% & 7

(1) B A DA I3 &
(2) ASHADH =1 &
(3) A9EE D# 3y & B B
(4) =T @ FE
e g § R ol & 2

(1) 16
(3) 14

(2) 18
(4) 15

(3)




If the third day of a month is Monday,
which one of the following will be the
fifth day from 21st of this month ?

(1) Monday {2) Tuesday
{4) Thursday

If first day of the year 2020 is
Wednesday, which one of the following
will be the last day of this year ?

(1) Monday (2) Wednesday
(3) Thursday (4) Friday

(3) Wednesday

How many triangles are these in the

figure given below 7

8

|

(1) 8 r {2} 16

(3) 20 (4) 22

Five persons fire bullets at a target al the
6,7.8.9 and
respectively., How 000many times in an
hour they would fire the bullets together
at the target ?

interval of |2 szeconds

(1) 6
(3) 8

(2) 7
(4) 9

What will be the missing fraction in the
given series ?

4 . g9 R 39
) 20 86
17 19
1y — oy =
() 40 (2) 42
2L 4) 22
44 53

]

-]

8.

[MAT-2]

ufz Fedt o @ e B gen oo o ae
#2141 A & dfEm Re, Pl § @
HiF-81 B 7

(1) HHaT (2) HEET

(3) IR (4) TR
g ad 2020 F 9o B goER , o @9 o @
sife fe, Frafafaa % & m-gr @ ?

(1) |WaEr (2) FEAIT
(3) THAR (4) $FAT

. i Pt TR & Ree g B 7

(1) 8
(3) 20

U = 0% W5 9 & 6, 7, 8, 9 #iF 12
AHE & SFOUw 9T e e & | O ge H
¥ e W 0F Ay e 9 et aem e

(2) 16
4) 22

(1) 6 2y 7

(3) 8 4) 9

9. i & g A F g e we-a R 7

- = 38
9 20 86
i3 19
[— Ay
() 40 2) 42
@24 4) 2
44 53

(4)




14.

The average age of a 5six member family
is 22 years. If the youngest member of
the family is 7 years old, then one hour
before the birth of this member, what was
the average age of the family ?

(2} 20 years
(4) 19 years

(1) -16 years

(3) 16 years

Questions 11-13 : Certain rules are followed
in the given series of alphabets, where some
alphabets are missing. Find out the missing
alphabet series which is correet from the
given alternatives.

1.

b_abbc_bhea _beabb —ab

(1) acas {2) acba

(.3) cabc (4) cacc
c—.bba_cab _ac_—ah_ac

(1) ahebe

{(3) haho b In
a—n_Db I

(1} beabab {2) bachab

(3) abcbch (d) abbbcc

Questions 14-17 ;

in a T20 cricket match hetween Team A
and Team B, Team A batted first and the
ppening batsman who took the strike on
the first ball faced all the deliveries right
from first ball to the last ball, He scored
his runs in fours and singles only. Jn
whole innings there was no extras e.g.
No ball, Wide ball, Bye, Leg Bye eic.
Thers was no run scored of overthrows
There was not a single dot ball in Team A
seored maximum

innings. Team A

possible Tun

(MAT-3]

10. = @eeq g fedl oitEm @t sime am

22 5% £, uft Had W12 geew ¥ ang 7 ad
B o =W WEE & W % 0§ Eed uEe

aftarT &t dtaq sy 41 o 7
(1) 1899 (2) 2078

(3} 167 (4) 1934

oe 11-13 : & FBfvas Fog o o sad &

7

¢, foredt g7 s gE W B ) 82 8 WH W

IUPERT ST FNEEE g T el § 8wl e
WO

h_abbc__bbea._beabb__ab
(1) acaa (2) acha
{(3) cabc (4) cacc

¢ 5bba -cab. ae ab. sc

(1) abcbe (2) acbeb

(3) babcc (4) beach
a—n_b_ _nch__ __nch

(1) hecabab (2) bachab

{3} abchch (4} abbbcc

e 14-17 -

v T20 e &9 & B Team A ¢ Team
B % g &ar T, Team A J Y& ¥wia &
7 o oges geEE W el A9 a3
s e B Ve o = B L U e i
W A | IO Haw G ST U T o e |
e A ot ol § B el g
A W, 9T 9, 9%, W7 95 Se e 8
CrCeen SR O A
el & e o O FE T W W | Team A
B ity TR S T

(3)




The opening batsman of Team B who
took strike on the first ball managed to
face all the deliveries until he got
winning runs for his team. The batsman
scored his run in sixes and singles only to
finish off the match with a win as early as
possible, Like Team A in Team B innings
too, there was no extras, overthrows and
dot ball.

14. What is the maximum possible score of

Team A Y
(1) 424 (2) 423
(3) 420 (4) 404

15. How many balls were left in the innings
when Team B won 7
(1) 36 (2) 37
(3) 38 (4) 39
16. How many runs were required to win the
match on the ball on which team B
hatsman finished off the match with a
sixer to win ?
(1) 1 (2) 2
(3) 3 (4) 4
17. How many sixes were scored by the team
B batsman ?
(1) 67 (2) 68
(3) 69 {4y 70
Questions 18-20 : When Ram will be as old as
Ram's father is now, Ram will be five times as
old as Ram's son is now. But at that time
Ram's son will be eight years older than Ram

is now. At present, the sum of the ages of
Ram's father and Ram is 100 years.

18. How old is Ram's son now ?
(1) 8 years
(3) 16 years

(2) 13 years
(4) 19 years

[MAT-4]

Team B & S3ures aevan forad o2d T a6t
TE4 giHiee B 7 g |/ R @ e T
I fm fedl 9 8 9 ) 38 awEe 2
A 7 T FaW o AN 0F T H WS 4
T U a0 T F e A e e e s
Wig % ®Y g B @E 1 Team A Ol
@ At Team B #1 arft § §t 8 R &,
AT 9 T e A (=R ) TE 9

14, Team A 1 feFoq 699 S & B 7

(1) 424 (2) 423

(3) 420 (4) 404

15. Team B 7 99 B=g ora & 39 @99 W H
el % gy o ?
(1) 36 (2) 37
(3) 38 (4) 39
16. 79 % 9 Team B & Twia o S AEC
FE & A Bt e ww e o Rew ard
4 % fom Bem = 9 aEsgE 4 ?

(1) 1 (2) 2
(3) 3 (4) 4
17. Team B % F=EM B0 R &b 710 T4 7
(1) 67 (2) 68
(3) 69 (4) 70

99 18-20 : 519 T F 1Y A9 e F A g F
qUEt 2, 7 T A S P B A oY F
dig o 2Rl | SR 36 A9E W & @ 9 g T A
T g § e a9 i grf | a9 T & e
&7 T i S B AT 10055

18, 9 % O A awAm ong R 7
(1) 8ad (2) 1394
(1) 163% (4) 19 a4

(6)




19. How old would Ram have been 5 years
ago 7

{1) 30 years

(3) 35 years

(2) 33 years
(4) 38 years

20. After 10 years, how old will Ram's
father be 7

(1) 56 years
(3) 75 vears
Questions 21-25 Read carefully the

information given below and answer the
questions -

Eight person A.B,C.D.E,F,G and H are
seated in a line and all of them are facing
North, not necessarily in the same order,
Each one of the above person lives in
different floor of a eight floor building
(e.g.- 1,2,3,4,5,6,7 and 8) not
necessarily in the same order.

(2) 65 years
(4) 66 years

The person living on the 3rd floor is
sitting on the second place towards right
of the person living on 2nd floor, C lives
on 5th floor, A is sitting on the fourth
place towards left of the person living on
&th floor. D is not sitting on either side of
H. Neither A nor the person living on 8th
floor are sitting on the exireme ends of
the line. B is sitting on the third place
towards left of F. There is only one
person sitting between G who lives on Ist
floor and the person living on 8th floor.
In between G and the person living on 7th
floor there are sitting 2 persons. H is
sitting just left of the person living on 7th
floor. Berween H and F, who lives on 6th
floor there are two persons sitting.

21. B lives on which floor ?
(1) 5th (2) 3rd
(3) 2nd (4) 7th

[MAT-5]
19. " 3f vEd T H Y 7 4l 7

(1) 30 74 (2) 3374
(3) 3544 (4) 387
20. %8 9§ 915 W F M # og = A
(1) 56 (2) 6574
(3) 757 (4) 66 7%

qe 21-25 : @ W gEAe & AEde A 9RT &R
I8 T A H AT S -

&= 7% AB,C,D.EF.G @T Hus @ ¥
T3 ¥ ot o9 oaw 9w o R # IR B W
w5l E, T oW % I A B UH Ae
o TE N oe oW Wi (3
1,2,3,4,5,6,7 @ 8) W & ¥, W wHA 7,
= A

w A Afw W T g, 98 gEd A4 W
T A % a0 § gEl W W Fer g ) C, 54
Hfse 9% TEal & 1 A, 84t dfw W A &
ai § 9% ®WW W dw £ D, HE I
ST e 4AT B | WA A A A &
i W A g, T & sfod B 9% d@e
I BFRauddam &M W 2 | Gl
FF eel i OC Ear ® ool omedl Wi 9t
X 9 o & 49 e o e @ B
G ¥ 74 dPE W e AW & 9 e A
affrr %2 £ | H, 74 dfe W = 9@ % S
g ¥21 2 ) Helw F, o1 & 64 6@ @
e & & o a8 =i 3B T

21. B & Hiew O A # 7
(1) oreredt (2)
(3) &l (4) @

(7)




22. How many persons are sitting between G

nd B ?
1) 1 (2) 2
(3} 3 (4y 4
23. D lives on which floor 7
(1) 3rd (2) 4th
} 2nd (4) Tth

24. Who is sitting just lefr of the person
living on 7th floor ?
(1) H (Z2) I
4y B

(3) A

<. Who is sitting three places towards right

| .r. a

(1) B (2) 1

(3) F° (4) C
Questions 26-30 tead carefully the
information given below and answer the

questions -

Two opposite surfaces of a 16 em solid
cube is coloured red, other two opposite
surfaces is coloured green and the
rémaining surfaces is coloured with blue.
After this the cube is cut into small cubes
of size 4 ¢m each.

26. How many cubes are there whose three

surtaces are coloured blue, vreen and red 9
(1) 6

(3) 10

LA
(4) 12

27. How many cubes are there whose none of
the surfaces is coloured ?

(1) 0
(3) 16

(2) 8
(4) 24

22,

23,

24,

25.

[MAT-6]
G o B# dig fgs aif 33 & 7

(1) o )

(3) = (4) E"'*C-
D #9 # A o war & 7

(1) e (2) =i

(3) Tl (4) e

TE H O T AW % A% A e B ey
g7

(1) H (2) F

(3) A (4) B

B A S a & St mm W der k7
(1) B (2) E

(3) F {4y C

S 26-30 2 59 & ® AEEE B oameds oo
AT 9B T 99 F st S -

27,

TE 16 A, MY T G W B 3 Buda wad
o @ WA, T ol weet @ e o7 @ a
AT WO T T R od R oaw =
FEF 4 BA. A9 T BR-8R w § fef
Y figr mr &

U g e g ¥ e A ame A9, 0 oe
A A g E?
(1 6 2) 8
(3) 10 4) 12
0 5w Rt w1 ¥ R 9 9 me O o
g7
(1) 0
(3) 16

(2) 8
4) 24

8)




[MAT-7]

28. How many cubes are there whose two 28, ¥ B w1 & Fe 339 @ e € &0

surfaces are coloured ? g7
(1) 4 (2) 8 (1) 4 (2) 8
(3) 12 (4) 24 (3 12 {4) 24

29, How many cubes are there whose only 29, & e &9 & Bd Faw uh a8 T gu E 7

one surface is coloured 7

1) 8 2) 16
(1) 8 (2) 16 e {

(3) 12 (4) 24 (3) 12 (4) 24

30. How many cubes are there whose three 30. ¥ = foeet & b i waz @i gu 8 7
surfaces are coloured ?

(1) 4 (2) 6
(3) 8 @) 16 8 ok 28

Questions 31-40 : In the following questions §s 31-40 : F=fofas ol & Be W den gea

complete the given number series with the most &} yg fos & 1M W (7) W@ TugEm e
suitable alternative in place of question (7) T G 5 g = 3

31. 2,10, 30, 68,7

(1) 4 (2) 6

3. 2,10, 30, 68,7

(1) 125 {2y 130 (1) 125 (2) 130

(3) 138 (4) 204 3) 138 (4) 204
32. 392,252, 150, 7, 36, 12 32. 392,252, 150, 7, 36, 12

(1) 80 (2) 84 (1) 80 (2) 84

(3) 132 (4) 148 (3) 132 (4) 148
33. 8,15, 28, 53,? 33. 8,15, 28,53,7

(1) 106 (2) 104 (1) 106 (2) 104

(3) 102 (4) 100 (3) 102 (4) 100
34. 12,36, 132, 348, 7, 1332 34. 12, 36, 132, 348, 7, 1332

(1) 732 (2) 648 (1) 732 (2) 648

(3) 716 (4) 943 (3) 716 (4) 943
35, 128, 7, 82,62, 44,28 35. 128, 7,82, 62, 44, 28

(1) 99 (2) 104 (1y 99 (2) 104

{(3) 109 (4) 106 (3) 109 (4) 106

(%




36.

31

38.

a9,

40.

2,3,6,15,42,7

(1) 84 (2) 123

(3) 94 (4) 66
3,7,23,95,2

(1) 575 (2) 479

(3) 128 (4) 62
1%, 23, 26, 30,33, ?

(1) 31 (2) 35

(3) 37 (4) 39
6, 17, 39, 72, 7

(1) 94 (2) 127

(3) 83 (4) 116
6000, 5940, 5881, 7

(1) 5823 (2) 5746

(3) 5854 (4) 5788

Questions 41-45 : Study the following figure
and answer the questions -

41.

B

H ;G:I

Here -

1. Large triangle~/ represents artists

2. Small traingle £\ represents scientists
3.Rectangle[ | represents dancers

4, Circle O represents doctors

Which letter represents artists who are
doctor and dancer 7

(1) H
(3) D

(2) G
(4) A

36.

37.

38.

39.

40.

IMAT-8]

2,3,6,15.43, 9
(1) 84 (2) 123
(3) 94 (4) 66
3,7,23,05,7
(1) 575 (2) 479
(3) 128 (4) 62
19, 23, 26, 30, 33, ?
(1) 31 (2) 35
(3) 37 (4) 39
6, 17,39, 72,1
(1) 94 (2) 127
(3) &3 (4) 116
6000, 5940, 5881, 7
(1) 5823 (2) 5746
(3) 5854 (4) 5788

ue 41-45 : Pl ompfy @ semmE it dn
98 T g w I R

1. &g Byt /7 #empr $ w2
2. oier e A Rt S gt &
3. e [ st @ g &

4. g9 O @il & atar & |

PIT-HT BT FAHA B a9 & A 2T
T B 7

(1) H
(3) D

(2) G
(4) A

(10)




42,

43.

44.

45.

Question 46-49

Which letters represents those artists

who are neither scientist nor doctor ?
i1y Aand B (2) Aand L
{(3) Band G (4) Land H

Which letters represents those artists

who are dancer as well as doctor ?
(1) Aand D {2) Gand H
(3) Cand A (4 Cand D

Which letter represents those artists who

are not doctor, not scientist and not
dancer ?

(1) D (2) F

(3) A 4) G

Which letter represents those scientists

who are not artists ?
(1) B {2) D
2 B (4) F

: Consider the following

stalements .

46.

There are six villages A,B,C,D,E & F.
F is 1 km to the west of D.
B is 1 km to the east of E.
A is 2 km to the north of E.
Cis 1 km to the east of A.
D is | km to the south of A.
Which three villagers are in a line ?
(1) ACB (2) ADE

{3) CBF (4) EBD

42,

43.

LG

[MAT-9]

FE-H HET I FE H ool & o A
famll B 9 @t ST B 7

(1) A#ATB (2) AFRL
(3) BaAWG (4) LT H

FA-H T T FAEU S A9 E S A9 W
P ST R E?

(1) AsiRD (2) GARTH
(3) CalmA 4 CarD

T A AT I FAEE H oadar & oo F &l
et M e o e B o

(1) D (2) F

3 A (4) G

FF-H AT I A FaEE & A HEw
T E 7

(1) B (2) D

(3 L (4) F
46-49 ; F=iiEa Fo T e S

ABCDEw Fe: mig & |

Falg D & 1 f.d. ofem & 8
BT ETa & 1 5 o d 8
ATia ETiEg # 2fd. s d
Ciig ATg % 1 st @ & &
Dig Avig & 1 R afer & 8
i W A T o e q g T

(2) ADE
(4) EBD

(1) ACB
(3) CBF

(11)




[MAT-10}

§7. " mes 'Vistons =" means 47. 3R - 971 § R g '+ Im % o g, o+
nuliip i means substraction OB Y o x dm # Bm oA
} . n, then which of the Frfeias & | 9 a1 T AR E 7

(1) 20+ 8-7 +6x4 =25

2) 20-5+4+6x5=15
b4 = IR (3) 20x5-6+7+ 4 =128
(43 20 = 4 10+ 6 = 36 (4) 20+4-8x10+6=136
48. Tn a cermin code 'CLOUD' is written as 48. ©H My $T ¥ 'CLOUD' # 'GTRKF' Ry
OTRKQ men how SEGHT' will be AT %F dt 'SIGHT' 5 i Fe 7 8 fomr
writien in th f=¢ s ?
(1) WGIHV (2) UGHHT
(3) UHIFV (4) WEIGV (3) UHIFW (4) WFIGV
49. In a certain code 'KAVERT is written as 49, s MivEg FHe T 'KAVERI' #H 'VAKIRE'
'"VAKIRE', ilien how 'MYSORE' will be Rrer wIRm %, 'MYSORE' &y g oFT § 3
written in this code ? o T ?
(1) SYMEQR (2) SYMROE (1Y SYMEQR (2) SYMROE
(3) SYMERO (4) SYMERP (3) SYMERO (4) SYMERP
Questions 50.54 - Complete  the given 33 50-54 : & e i R Enl

anology

(1) WGIHY (2) UGHHT

. CE:70::DE:? 50. CE:70::DE:?
(1} 90 (2) 60 (1) 90 (2) 60
120 (4 210 (3y 120 (4) 210
51. EIGHT GIEYTH :: OUTPUT : » 51. EIGHTY : GIEYTH :: OUTPUT : ?
1}y UTOPTO {2) UOTUPT (1) UTOPTO (2) UOTUPT
(3) TUOUTP (4} TUOTUP (3) TUQUTP (4) TUOTUP
52. 7384 :4837 :: 5291 : ? 52, 7384 :4837::5291 :7
(1) 1924 {2) 1925 (1) 1924 (2) 1925
(3) 1935 (4) 1915 (3) 1935 (4) 1915
: Archer ;; Pen : ? 53. i : qET 2 9 0 7
(1) Author (2) Student (1) =% (2) Faemd
(3} Purchase (4) Writing (3} @i 4) FrEEe

L2 ]
Lok
.

-
=

S
-

(12)




a4. PRT : KMOD :: JLN:7

(1) DFI (2) EGI
(3). DFH (4) DGI
55. If Ramesh, while selling two sarees at the
same price, makes a profit of 10% on one
saree and suffers a loss of 10% on the
other then which of the following is true -
(1% hie makes no profit and no loss
(' he makes a profitof 1 %
(i) he suffersalossol 1%
1) he suffers a loss of 2%
Questions 56-60 : The given pie-diagram shows

the marks scored by a student in different subjects
e.g. bEnglish., Hindi, Mathematics, Science and
Social Science in an examination, Assuming that
540,

the total marks for the examination is

answer the following guestions :

Hindi (=)

» Mathemalics

; (ifity)
Social Scence {

(e =)
, English (i)
Science (f@5F) 2 '

S56. The Hindi &
Mathematics exceed the marks scored in
English & Social Science by -

(2) 75
_(4) 30

matrks scored 1in

(1y 60
(3) 40

57. The subject in which the student scored
22.2% marks 7
(1} Hind: (2) Science

(3) Social Science (4) English

[MAT-11]
54. PRT:KMO ::JLN:?
(1) DFI (2) EGI
(3) DFH (4) DGI
55. A Wy @ A @ F @ W W = %
qrEl o 10 gl e FEa 8 oo gEh

10 e e gram & o Fraida § & @9
i ¥ -

(1) =® 71 & @ g 3 7 & = 2efr
(2) 39 1 ufosm w1 &9 8w
(3) W 1 viw & = 2R
(4) T 2 ufeEm & wf el

9T 56-60 : = R om o emw Rl oden &
S uE I RbE B ooar oilen, R, P,
fsm o o faem § ot B ogui ® O
T H s 540 99 T Pl g § 3
o

Hindi (=)
Mathemarics
Social Science {quﬁ]
(mrfas )
English (&)

Science (FEm)

56. femi o nfvm & ore siw St o amfeE
R & me sfEt 4 ofas E -

(1) 60 (2) 75

(3) 40

57. aﬁi’rﬁmﬁmﬁzz.zﬂmﬂmmﬁﬁ
e 71
(1) f=d (2) Fsm=
(3) #HioeE BEE (4) S

(4) 30
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58.

60.

61.

63.

The subject in which the student scored
105 marks is

(1) Mathematics (2) Science

(3) Hindi (4) English

. The marks obtained in three subjects

English, Science and Social Science is
what percentage of the total marks ?

(1) 45 2) 44%
(3) 55 (4) 55—}

The marks scored in Mathematics is what
percentage of the total marks ?

(1) 20 (2) 30

(3) 35 (4) 25

If you write down all the numbers from 1
to 100, then how many times do you
write 3 7

(1) 11
(3) 20

(2) 18
(4) 21

Find out the two signs to be interchanged
for making the following equation

correct -
5+3x8-12+4=3

(1) + and - (2) -and +
(3) + and x (4) + and +

In a row of boys, if A who is 10th from
the left and B who is 9th from the right
interchange there positions, A becomes
15th from the left. How many boys are
there in the row ?

(1) 23
(3) 27

(2) 31
(4) 28

61.

62,

[MAT-12|
B A B fwg § 105 ofF ora B B
(1) 7w (2)
(3) R=d (4) ofirh

9 FwE ol Ree o abe ReEm 3
TS G FH Bl &7

(1) 45 @) 445
@) 55 ) 55—

T & HIIE G S B e ofaee & 7
(1) 20 (2) 30
(3) 35

af% oMy 1 & 100 5% &1 9t o=y frad E S
AT 3 A G foe 7

(4) 25

(1) 11 (2) 18

(3) 20

B A A Rt B om-and B 9T B
T | S -

5+3x8-12+4=13
(1) + 3l - (2) -9% +
(3) + &t (4) + T +

wEH W oF o F AR A, o aw & TEd
WA R A B, W aW @A e ouw R
& T # SEe-aa S E, At A & A
T oA H uEEE & o B gmmd ofe H
o a=s £ 7
(1) 23

(3) 27

@) 21

(2) 31
(4) 28
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64. P is the brother of Q and R. S is R's
mother. T is P's father. Which of the
following statements cannot be true ?

(1) TisQ's father (2) S is P's mother
(3) Pis S's son {4) QisT's son

65. How many 7's immediately preceded by
6 but not immediately followed by 4 are
there in the following series ?

742764 367535 784376 72406 743
(1) 1 {one) (2} 2 (two)
(3) 4 (four) (4) 6 (six)

66. How many prime numbers are there

between | to 100,
(1) 17 (2) 18

(3) 19 (4) 21
67. How many digits are there in 6 x 2% x 5797
(1) 100 (2) 101

(3) 102 (4) 103

Questions 68-70 :
alphabetical series.

Complete the following

68. ADG, GIM, MPS, ?

(1) SVW (2) SVY

(3) SUW (4) SWY
69. BD, HJ, NP, 7, ZB

(1) QS (2) TV

(3] A (4) TU

70. FOX, IQV, LST, OUR, ?
(1) RWP (2) RPW

(3) QVS (4) SXU

[MAT-13]

64. P,QATRFAWER | S, RFA AT E | T, P
= fyar &, @ =i #2=t § @ #9 a@1 w0
oy 7E & 7

() T,QF Fw & (2) S, Pt g ¥
3 PSWEE ) QTHFE

65. Fr=fafea gam & dm e 7 & e g
UEd 6 & A g 9w 4 76 7

742764 367535 784376 72406 743
(1) 1(T%) (2) 2(ah
(3) 4 (=)

66. | T 100 7% #F wEd 3 9 Bl ety
T £ |

(4) 6(B8)

(1y 17 2) 18
(3) 19 4) 21
67. 6 x2” x 5" % e afw 20 7
(1) 100 (2) 101
(3) 102 (4) 103

ne 68-60 : F=ffen swr gamr & w SR

68. ADG, GIM, MPS, ?

(1) SVW (2) SVY

(3) SUW (4) SWY
69. BD, HJ, NP, ?, ZB

(1) QS (2) TV

(3)y YC (4) TU

70. FOX, IQV, LST, OUR, ?
(1) RWP (2) RPW

(3) QVS (4) SXU

(15)




Questions 71-75 : Find the missing number in

the following :

i

72.

73.

74.

78.

(1) 320

(1) 30

(1) 14

(1) 0

(1) 47

T |

r % 5 5 2 9

> Yy 3 g
3 6

2) 274 (3)

70

(2) 45

(3)

32

37

(4) 132

(4) L18

(4) 320

(4) 12

(4) 35

[MAT-14]

gy 71-75 : Frefafaa gt 8 @@ @ewm @ m

(16)




76. Arrange the given words in the sequence
i which they appear in the dictionary
and then choose the correct sequence ?

(1) POWER (2) POWDER

(3) POSITION (4) POSTER

(3) POSITIVE

(1) 4.,5.3.2,1 (2) 5.3.4.4,1

(3) 3,5,4.2.1 (4) 2.5,1,4.3

Questions 77-78 : Arrange the given words in
alphabetical order and choose the one that
comes last.

77. {11 Vapour (2) Vaccine

{3) Vacuum (4) Valentine

78. {1) Distribute (1) Disturb

(3) Distinct (4y Dishonest

79. Which one of the following wvein
diagrams represents the relation among

doctor, nurse and human 9

QO

[MAT-15]

76. R g g S agEn § amEtem B | T
3 s # oo ol T w9

(1) POWER (2) POWDER

(3) POSITION  (4) POSTER

(5) POSITIVE

(1) 4,532,1 (2) 5,3,4,2,1

(3) 3,5.4,2,1

g 77-78 : U o o= Sy avigen ¥ e S
#Ar o offow § o & S g7

(4) 2,5,1,43

77. (1) Vapour (2) Vaccine

(3) Vacuum (4) Valentine
78. (1) Distribute {(2) Disturb

(3) Distinct (4) Dishonest

79. Tt a9 el # & #9 -\ aRig g
W AT o F 4" A=y § el S

€

D

O

Qi

O

(1)

(2)

(3)

(4)

g7
Dljam Eo
(1) (2) (3) (4)

80. If Chandra is smaller in height than Rina,
Puja is taller than Sita and Sita is taller
than Rina. Who among these is smallest
in height ?

(1) PUJA (2) RINA

(3) SITA ) CHANDRA

80. af w1, T & S & O B, o, @ A
we & e e, i @ el E O o 8 e
e & T B 7

(1) o (2) W

(3) e

4) ==




Questions 81-85 : In each of the following sets of
figures, select the one figure that is different from
the other figures from the given options.

81.

o o000 00 o000
oo oo o 000
(1) (2) (3) (4)

82.

O

(2) (3) (4)
83.
&%l
(1) (2) (3) (4)
84. T
(1) (2) (3) (4)
8s. O
L)) OO € OO
dla |o
(1) (2) (3) (4)

Questions 86-89 : In each of the following
questions two statements and two conclusions
numbered I and II are given. You have to take
the given two statements to be true even if
they seem to be at variance from commonly
known facts. Read the conclusions and then
decide which of the given conclusions
logically follows from
stalements.

the two given

[MAT-16]

A5 81-85 ;: 9EiHl & Fr=nifeg 85 § 4 uww ¥,
UF AFH W oI B W G W GEH # I

ATl | O 2

al.
o 000 Q0 o000
Q0 O O o o000
(1) (2) (3) (4)
O TKD
(1) (2) (3) (4)

R3.
1IN |
(1) (2) (3) (4)
RN
(1) {2) (3) (4)

85.

O @)
OO0l O 10 OO
olg |o

(1} (2) (3) (4)

95T 86-90 : e U MU uE usE H I Ha AN @
frepd 1ol I fRw o & 1 ool RBw o weeT
A9 T B, 99 8§ gdea awA § e wei et
Frepdl it qe=t 98 99 A B FE-m Freed R
T HYRE H AHETT B9 H ST FA 2

(18)




86. Statements :

87.

88.

(I) All dancers are singers.
(I1) All singers are teachers.
Conclusions :
(I) All dancers are teachers.
(II) Some singers are dancers.
(1) Only conclusions | is true
(2) Only conclusions 11 is true
{3) Both conclusions I and Il are true

{(4) Neither conclusions I nor
conclusion 11 is true.

Statements :
() Some fruils are mangoes.
(1I) Some ruils are not guavas.
Conclusions :
(I) All fruits are mangoes.
(IT) All mangoes are [ruils.
(1) Only conclusions | is true
(2) Only conclusions 11 1s true
(3) Both conclusions | and I are true

{4) Neither conclusions 1 nor
conclusion II is true.

Statements ;
(I) No Horse is Dog.
(IT) All Dogs are Elephants.
Conclusions :
(I No Elephant is Horse.
(II) Some Elephants are Dogs.
(1} Only conclusions I is true
(2} Only conclusions Il is true
{(3) Both conclusions I and II are true

(4) Neither conclusions 1 nor
conclusion I is true.

[MAT-17]

86. F

() & 7% TEE E
(D) a4 T fimE
Frepd
(1) | T e F |
(II) B 9% T0%F & |
(1) %aw F=d 199 & |
(2) ¥ Frepd 19 & |
(3) Fr FeRf 1 e & B )
(4) @ PR 1R 7 & Freed 1A
A
7
() %5 T &H 2 |
(1) FB T F65 Tl E |
e
M | w oo E
(I) &4 I/ % & |
(1) Faw e 189 &
(2) Faw Frepd 1169 B
(3) & Frerd 1ol 1A &
(@) 71 & Fed 1@ 5 & e 1 a9
T
A
(I) @ drer G 748 2
(I w41 %@ el 8 1
ot
() % et drer 78 &
(1) %B &l F & |
(1) e et 180 &
(2) Faw el IHE &
(3) A P 1ol &
(4) - & Fepd 1 AR 9 & e 1 o
)

(19)




89. In the given question choose the correct
mirror image from amongst the four
alternatives.

PRACTICE
(1) ADITDAA9 (2) 9AADTIOE
(3) PRACTICE (4) HDILLCAA]

90. In the given question choose the correct
water image from amongst the four

alternatives.

MUMBAI
(1) Wmnwevl (2) IvAMUM
(3) MIINBAI (4) pinwWavl

Questions 91-94 : In a village of 450 people,
272 read Hindi Newspaper, 132 read English
Newspaper and 200 read Urdu Newspaper, 35
read only Hindi and Urdu Newspaper, 27 read
only Hindi and English Newspaper. and 14
read only Urdu and English Newspaper. 30
read no Newspaper,

91, How many people read only une
newspaper !
(1) 250 (2) 300
(3) 325 (4) 275

92, How many people read atleast two
newspapers ?
(1) 96 (2) 98

(3) 102 (4) 100

[MAT-18]

80. B& 7o g F wd adv e T R |
o 7
PRACTICE
(1) HDITDASAY  (2) IIADTIOE
(3) PRACTICE  (4) HDILCAS]

90. Y 7w us ¥ ¥ w9 wfafeE 9n faweat § |

a4 7

MUMBAI
{1y WNKNBYI (2) IVAMUM
(3) WIOWBAL (4 WOWEVI

ggT 91-94 : 0% 7T F 450 i Teq €, FE § 27290
el wEE O T €, 132 T SiUE wEE Wl
g & AT 200 W IE THEN T e ¢ | 5 A
Fa 55 @ et ol o weE o ged F T
27 F e S el FAE T e (4
w @g A il enE O g ¢ ot 50 6
I HHET U A el 6 |

91. R @ R o W 9 €

92, P &1 BN A FY & THER W g0 2 ¢
(1) 96 (2) 98

(3) 102 (4) 100
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93. How many people read all the three
newspapers 7

(1) 4 (2) 6

(3) & (4) 10

94. How many people read only English
newspaper 7

(1) 86 (2) 91

(3) &7 (4) 96

Questions 95-96 : A dice is thrown 3 times
and its 3 positions are given in the picture
below. Answer the lollowing questions.

[MAT-19]
03, Fre @ a9 & TER T ued E 7

(1) 4 (2) 6

(3) 8 (4) 10

94, FFae @M Fam SN TEER 9 950§ ¢
(1) 86 2) 91

(3) 87

g9 95-96 : 05 UH & dF aw Bw o W
Rgfat o 8% @@ e fam A o W R
Rt oesi & e Sifrg |

(4) 96

95. Which number is opposite to 4 7
(1) 1 (2) 3

(3) 5 (4) 6

96. Which number is opposite to 1 7
(1) 2 (2) 3

(3) 4 (4) 6

97. How many 5's are there in the following
sequence which are immediately
followed by 3 but not immediately
preceded by 77
43657536457357353

(1) 0 (2) 1

(3) 2 (4) 3

95, FA A HEN 43 FafE R 7

(1) 1 (2) 3
(3) 5 (4) 6
96. H & wewm 1 % il & ?
(1) 2 (2) 3
(3) 4 (4) 6

97. P 400t & 5w 5 € & 3% T am o
 dfF oud gl @ 7 7 amn & ?

43657536457357353
() 0 {2) 1

3) 2 @) 3

(21)




Questions 98-100 :

problem figures. Choose the correct figure.

98.

99.

100.

There are two sets of
figures. One set contains problem-figures while
the other has answer figures. There is &
sequence according to which the problem figures
are arranged. You have to select an answer
figure which can be added in sequence with the

Problem Figures / woey g

[MAT-20]

T 98-100 : Bt % 3 w9E ¥ o wu wwem
FEt &1 & oo g w9E oo Rt ow B 0w
e o 7 3 0% % a0 @ g ¥ | e o
Rl # & & W@ P @1 3@ s & A
wE-RE § A o S o w3 W
Fav-fad B g

Answer Figures / 397 g

@ | 8 |a

S

0000

0()®

Ly,

(A) (B) (3)

Problem Figures / Twean fig

(D)

(1)

(2)

(3)

Answer Figures / 3o &

(4)

L.

i

.

*'? i

(A)

Problem Figures / 79 fog

(B)

-4

§
(D)

(1) (2) (1) (4)

Answer Figures / 397 &9

&

=

<D

¢

i | § |0

(B)

(3)

(D)

(1) (2) (3) (4)

(22)




